
 
Latest Revision: 9/12/2022 

For questions or help with the installation, please email help@sdhqoffroad.com 
Store front hours: Mon. – Fri. 8:00am – 5:30pm and Sat. 9:00am – 2:00pm Arizona Time. 

Page 1 of 4 

 
 

Product Packing List 
Product:    SDHQ-00-1103-SM 

Description:  SDHQ Built ARB Compressor Switch Mount 
 

  (1) Switch Mount Bracket      SDHQ-00-1103-SM 
  (1) Hardware Package 
   (1) M5 – 0.8 x 18mm S.S. Bolt 
   (1) M5 Zinc Plated Spring Lock Washer 
   (1) 1/4” S.S. Washer 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

Inspected and Packaged By:        Date:      

mailto:help@sdhqoffroad.com


 

For questions or help with the installation, please email help@sdhqoffroad.com 
Store front hours: Mon. – Fri. 8:00am – 5:30pm and Sat. 9:00am – 2:00pm Arizona Time. 

Page 2 of 4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

mailto:help@sdhqoffroad.com


 

For questions or help with the installation, please email help@sdhqoffroad.com 
Store front hours: Mon. – Fri. 8:00am – 5:30pm and Sat. 9:00am – 2:00pm Arizona Time. 

Page 3 of 4 

 
 

INSTALLATION INSTRUCTIONS 
Product:    SDHQ-00-1103-SM 

Description:  SDHQ Built ARB Compressor Switch Mount 
 

 
 

Tech Notes 
Fits with ARB Dual and Single compressors 
Install shown with ARB Twin Compressor 

Approx. Install Time: 1 Hour 

  
***READ ALL INSTRUCTIONS THOROUGHLY FROM START TO FINISH BEFORE BEGINNING INSTALLATION! *** 

 

Parts List Hardware List Required Tools 
(1) Switch Mount Bracket 
       SDHQ-00-1103-SM 

(1) M5 – 0.8 x 18mm S.S. Bolt 
(1) M5 Zinc Plated Spring Lock Washer 
(1) 1/4” S.S. Washer 

4mm Hex Key 

mailto:help@sdhqoffroad.com


 

For questions or help with the installation, please email help@sdhqoffroad.com 
Store front hours: Mon. – Fri. 8:00am – 5:30pm and Sat. 9:00am – 2:00pm Arizona Time. 

Page 4 of 4 

 

 
 
 

 
 

 
 

 
Installation Instructions: 

1. Take your compressor and remove the M5 bolt holding the 
compressor body to the frame. 
 

2. Replace the removed bolt with the mount and hardware as 
shown above.  

 
3. Pause now and wire the switch, then place it in the mount. 

 
4. Enjoy your SDHQ Built ARB Switch Mount! 

 
***Double check all hardware is installed correctly and tight*** 

 
***Re-torque ALL bolts after 100 miles*** 

 
 

Follow us on: 

 Facebook   Instagram 

M5 Lock Washer 

Switch Mount 
Bracket 

M5x18mm S.S. Bolt 

¼” S.S. Washer 

mailto:help@sdhqoffroad.com

